
 

 eziS teehS tnirP = eziS tuoyaL egaP
 91 ” )w( ”31 X )h(  )mm2.033 x mm6.284( 
 

 egdE mirT = eniL dettoD kcalB
 - enips gnidulcni koob siht fo ezis mirt ehT

 60.21  x ” 0.9 ” ( 23.603  x mm 6.822  )mm
 

  dloF enipS = eniL dettoD eulB
 .ylthgils yrav yam tnemecalp dloF

 
aerA eviL = aerA etihW   

 .aera siht ni segami laitnesse dna ,txet ,sogol noitisoP
 

deelB/eviL fo tuO = aerA deR   
 segami laitnesse ro ,txet ,sogol ecalp ton oD .aera der eht llfi tsum krowtra dnuorgkcab ruoY

 eseht teem ton seod krowtra ruoy fI .aera der eht ni
 .detcejer eb yam ti ,stnemeriuqer

 kcaB
0.6  x ” 0.9  ”

( 4.251  x mm 6.822  )mm

 ecapSetaerC
 kooB kcabrepaP

 etalpmeT revoC
 

0.6  X ” 0.9  kooB ”
( 4.251  X mm 6.822  )mm

 
0.42  egaP 

 
60.0  htdiW enipS ”

( 25.1  )mm
 

roloC  repaP 

 tnorF
0.6  x ” 0.9  ”

( 4.251  x mm 6.822  )mm

 
  edocraB

 eziS & noitacoL
 ”2.1 X ”2


